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A : 1 (TF ) 9H . QTHT= &THaT =Tt TSI TIOT £ 100

ES Sz hall '
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(@) () I RS Y W) ¢ Tait 398 Afa0) ST @i 1, 2, 3 300 4 S shHin [0S s, o

o1 SHIY! Hald TG S shHis ITRE(AHOIS GATFH T ITRIFRE TS FUEl. F TR
FATAFHIL SAEHHS TS ] o Tl TRTRUhrHI i e SYiae SIse ard| wesh s,
TSI TR HTedT VB Sioa aaus, e ar s 19 9us =@,
(/) a9 fanararst e sRe gut urew fafu o 3e. = fawams welss uy wet /ey
TETET.
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1. vt AP (A1) S5 deEd @ Qe faem =
(a) HEIE Ao 1 T 2016 TS 5 AEAN @1 O 3.
(b) A AATER T Mt ST T S ¥ 8,000 fa HeRT o9

() mofet Hfee Snft s A v TER @ ST gURe 3 dete 71 g sk
3.

it 39T
(1) U @), (b), (©) 30T AR”T @) Taum (b), () e 3ma
(3) o [GUM (a) TS 3R (@) FF@ AU () ST 3

Consider the following statements about the ‘Pradhan Mantri Matritva (Matru) Vandana
Yojana' :

(@) This scheme was launched by the Central Government on April 1, 2016.

(b) Under the Scheme government would provide ¥ 8,000 financial aid to pregnant and
lactating mothers.

() It also aims at improving the health of pregnant women and lactating mothers
through cash incentives.

Answer options :
(1) Statements (a), (b), (c) are correct (2) Statements (b), (c) are correct

(3) Only statement (a) is correct (4) Only statement (c) is correct

=T FIATEIS! WA /SPACE FOR ROUGH WORK PTO
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2 ﬁ wuferr 35’ (The Coalition Years) 31 JFIehTd OF 0 3124 ?
(1) o= gt (2) . fadee
(3) T mE R (1) e e
Who is the author of the book ‘The Coalition Years’ ?

(1) Pranab Mukherjee (2) P. Chidambaram

(3) Dr. Manmohan Singh (4) Kapil Sibbal

3. 2018 = sTRALHL.T. -20 frde wden g foommad sadg sese @ waifus Son
FIEG . 419 HIV TN FIREG 5 7

(1) TSTRYE 9T (2) T& so=a 49w
(3) W gW s (4) HITHE TE ISy

Jaydev Unadkat emerged as the most expensive Indian Player in 2018 IPL auction. He is

signed by
(1) Rajasthan Royals (2) Kings XI Punjab
(3) Chennai Super Kings (4) Kolkata Knight Riders

T /AT W /SPACE FOR ROUGH WORK
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4,  TERIE VAT, JSTE . STV SHoaehl Aied] T fEen SO ure S1varee TR T Sl
QAT ST 7

(1) =T T el (2) =i Toei| s
(3) =i sifeE feaws (4) S TN A

Who among the following is the recipient of the award for research on language in the
name of Dr. Ashok Kelkar, given by the government of Maharashtra ?

{1) Dr. Rangnath Pathare {2) Dr. Milind Joshi

{3) Dr. Avinash Biniwale "~ (4) Dr. Ashok Kamat

5. WRd OieRe WA Aaear fafay [ereriis! g2 faoe qerenen waiEiwt I 4
FIT ART A WM 2

(1) wEE - Yfag dreddaen 39 sfashi=n (3% o1 e,

(2) I - YRATH TR ST VB4 S 3o Jsiad ggaul.

(3) TAHEIE® 3SAT 2,0 - YRAH FHT= fam ==,

(4) wdes et § fafererst gfawn - aemee snftn gagt Fa7 A9 geam.

Following are the different initiatives by Tourism Ministry, Government of India. Which
of them is incorrectly stated ?

(1) PRASAD - free food distribution to visitors at renowned pilgrimage sites.
(2) HRIDAY - preserve, revitalized India’s heritage cities.
(3) Incredible India 2.0 - to promote tourism in India.

(4) e - ticketing at Tourist sites - started at Taj mahal and Humayun Tomb.

HoAT HIEGT AT /SPACE FOR ROUGH WORK R



H11 6 A

6. FoTE WAEHER A weHt Eiedst S fayR aw s ?
(a) I IEY FENH UL WASAEIY s T,

(b) TER AT S ATATeRA AT B U T federan s (swite) st gow 9wl qgen
faz (feasm).

(c) a1 ARES Wenld/ TEET sekdt IT AN,
(d) AAHET T1 ARG T HAGH FIATE! Haed/ 3T e 37 T8
Tidt 39T

1) (@, () (9 (d) 2) (@ {b) (©

G (®) (9 ) (2. (b)

Which of the following statements about Kailash Mansarovar Yatra are true 7
(a) It has been organised by Ministry of External Affairs.

(b) It has been organised through two different routes Lipulekh Pass (Uttarakhand)
and Nathula Pass (Sikkim).

(c) Foreign Nationals are not eligible to apply for this yatra.

(d) Ministry of External Affairs does not provide any subsidy/financial assistance to
Yatris.

Answer options :
M @, ®) () () (2) (), {b). (©)
3 @) © (4) f(a) (b)

7. 3 - 5 dofiew dvurEr] orgaur! e et ene ?

(1) 5,000 - 5,500 fe.5T. (2) 2,500 &,
(3) 7,500 .. (4) 10,000 f&H.
What is the range of Agni - 5 ballistic missile ?

(1) 5,000 - 5500 km (2) 3,500 km

(3) 7,500 km (4) 10,000 km

oAl HTAMTS S0 /SPACE FOR ROUGH WORK
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8. '#MeToo’' ? U fulumiles aifiam st Heifug ome 2
(1) fieF TEmER St T
(2) e, SRR G ARG qEifaw
(3) Wwre faEhmEite safarma mied gEm 98
(4) wEr fEE
‘#MeToo" campaign on social media is related with __
(1) sexual harassment and assault
(2) depression, sucide like psychological issues
(3) privacy issues at social media
{(4) voter campaign

9. SieT oM
/e UFeq
{a) wa AIgH @) T = Y
() Tt (i) e
(c) Mg (i) T A2
(d) TR (iv) g T 9 T 6y
it I

@ () (o (d)
(1) (@) @v) @ (i)
(2 @) @Gv) (@) @)
(@) O () @ (i)
@) @ (@) () (iv)
Match the following :

Village/ City Project
(a) Pawani Tahsil (iy Nagzira Tiger Project
(b) Chichpalli {i) Gosikhurd
(c) Navegaon (i) Mazi Metro

(d) Nagpur (iv) Bamboo Research and Training Centre
Answer options :
@@ {) () @
Q) @ v @ @)
@ @ (v} (@) (@
Gy O (v G) (@)
4) @ @) @) ()

AT THHME SR /SPACE FOR ROUGH WORK PT.O
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10. e U543 Hfgw (fT= ¥ Hera # e

(a) TS A Gemisome e GedHraT F:20

(b) T ST 38, 39, 39 Y 42 T s S Fbv O sier S

(c) U fayrmw 9 wifte Wisy gengdie afeei=n fHags T

(d) FhSUH TE

Tt Sy

(1) % (a) (2)  (a) N (b) (3)  (b) oTfT (c) (4) W& (d)

The main function of Maharashtra State Commission for women is

{a) To evaluate the progress of the women empowerment in the state

(b) To implement the Directive Principles of the Constitution mentioned in the article
38, 39, 39-A and 42

(c) To conduct the elections of the women for the state legislative assembly as well as
local self Government

{d) None of the above
Answer options :

(1) Only (a) 2) () and (b) (3)  (b) and (¢) (4)  Only (d)

11. 391 Sgaal 9=t e oS famm sefaumd oftedl vrdia wften dvarn 9m qoara faefen,
T[T A FI Ters [TA IS ?

1 fm-21smm (2) fm-zsmem () gEd (4) g-57

Avani Chaturvedi has become the [(irst Indian woman to fly a fighter jet solo. Which
atrcraft did she fly ?

(1) Mig-21Bison (2) Mig-27Bison (3) Sukhoi (4) Su-57

Tl WIATETS! AN /SPACE FOR ROUGH WORK
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12, efetEd didE A e W e e TerE R Tee w67 A
F2 YR FIORR A E FA o1 ?
(1) fot e st A () TS T A
() YA adt A (4) T T A

Which Yojana has been launched by central government for providing Physical Aids and
Assisted - living Devices to Sendor Citizens belonging to below poverty line category ?

(1} Deen Dayal Vayoshri Yojana (2) Rashtriya Vayoshri Yojana
(3) Pradhanmantri Vayoshri Yojana (4) Atal Vayoshri Yojana

13. ‘W aes doy’ A Tl AT TaR e § STt Faifue R weten A view 15 7
AR, Ha Fal BT YRl HHIE BTl 7
(1) fewm (2) =2 (3) BHwe @ rE

According to a report by ‘New world wealth’, Mumbai is among the Lop 15 richest cities
in the world. Which city follows Mumbai in this report ?

(1) Chicago (2) Toranto (3) Frankfurt (4) Shanghai

14. Bl TAH TS Foan it s drodi=al el Tsiaed 8w, e demge
FH I ?
(1) *Smow (2) B (3) = (4) SEH

Which state has launched KCR Kit Scheme for the welfare of pregnant women and new
born babies in the states ?

(1) Telangana (2} Kerala (3) Haryana (4) Assam

15. oA TR qradem AHEiER Fwrwal oy TRiR En SIvear 2ume R 2 ?
(1) 9rd (2) wifesas (3) ey (4) FTEITNEE

Human Rights activist, Asma Jehangir recently Passed away, she was a citizen of

(1) India (2) Pakistan (3) Bangladesh (4) Afghanistan

el RTHIIE | /SPACE FOR ROUGH WORK S
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16.  wgrs foem witwg = J=rea |ft) SfufEm 1061 TOR @eie dve Sre @

(a) e oftuy sioefa fafay afgen 3 = (i) IR - 95
(b) Tefawrr fyFraEl AV (i) H - 78
(c) YT WEG WA A FO-T A AR 7 (i) oM - 97
(d) TH FEFR! SR A" s 3 F (iv) U -76
gidt I

@@ (B & @
M v @) @) ()
@ W @@ @)
@ B v @) 6@
() (ui) @) @ ()

According to Maharashtra Zilla Parishad and Panchayat Samiti Act, 1961. Match the
following pairs :

(a) Various Committecs and Structure in Zilla Parishad iy  Article - 95
(b) Appointment of Block Development Officer (i) Article - 78

{€) Powers and Functions of Panchayat Samiti President  (iti) Article - 97
and Vice President

(d) Powers and Functions of Chief Executive Officers (iv) Article - 76
Answer options :
@@ () () ()
M @) @ a6) )
(2) Gy () @v) ()
(3) @) Gv) (@) (i)
4) (W) @@ @ @)

el HIHTESE AT /SPACE FOR ROUGH WORK
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17. wetets wio ey waad gen vwfes 9 a9 ?
(a) fa=
(by foeme aufn wewwie, B9
(c) =T i ATy aqfi eaiem AR ST
(d) TR FEST
a9
n @ @ @sE @ @ oG ¢ Tew
Which of the following subjects are included in the concurrent list ?
{a) Electricity
(b) Marriage and Divorce, adoption
{¢) Weights and measures and establishment of its standards
{(d) Trade Union

Answer options :
1)y (a (2) {a) and (o) (3) (a).(b)and (d) (4) Al ofabove

18. &S 3mEre faum ww -

(3) FTTEATIR Y HEE § AmiiE den o,

(b) & ATENT E WA 3T W

(c) @ JEM T AHSS SaE oA aeiine oW 33T gsgegmee sfuen
UGS THY T AS T,

(d) a1 IFrEmREY e 1990 Tt e

qgidt I : _

(1) {a) (). () (2 (o) (d) G (@ ) (4} @) ©

Find out the incorrect statements :

{a}) National Commission for Backward Classes is statutory body.

(b) It works under Home Ministry.

{(c) NCBC is not yet been empowered to look into the grievances of persons of other
Backward classes.

(d) It was established in year 1990.

Answer options :

(1) (@) (B () (2) (b} (d) 3 © @ 4) M) ()

AT FINRIG W /SPACE FOR ROUGH WORK PT
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19, WEE faud foanm wn ;. (39 <rearen Seuid)

(@) T WICUM FOIAG T FHAG T ET TN IR TR AL FIBST T
I raredR sHfafte =i g sfuer .

(by e e =emdten safalen 3 SreRren Frrasdt =rafyers aegren srferige
Fyar @ I YSrE F HE YT TE de TR 39 e TR ey frga
HE YL

(cy fafe ity ol sty g endter =0 FarE 65 A o werEa 3 e Ug
R AR

e faumitet soR/H faar/3 aat /a7
(1) (a) w (2) () FR (3} () ST (b) (4) (a), (b) 30 ()
Consider the following statements : (with reference to High Court)

(a) The President has the power to appoint an additional judge for a temporary period
of not exceeding two years for the clearance of the arrears of the work in a High
Court.

{b) The President can appoint an acting judge when a permanent judge of the High
Court {other than a Chief Justice) is temporarily absent or unable to perform his
duties.

{c) Neither an additional nor acting judge can hold office beyond the age of 65 years.

Which of the statements given above is/are correct ?

(1} fa) only {2} (c) only (3) (a) and (b) (4) (a), (b) and ()

HOAT SRS T /SPACE FOR ROUGH WORK
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20, WA BV FRUTwE T e F sifiesfi wREE [FT9E - 19 (1)() TeEt s
RICRC T

(a) A A

(b) IETHEHE FIEW

() wRwivil firrr daiy

(d) Yo wEdYE 9 e

() Fu@ A frdlaw

uzrfaﬁaa’r:
1 () (), ) (¢ ) ®) ) @
@) (@ (© @) @) (@) wiowd

The state can impose reasonable restrictions on the freedom of speech and expression
[Article - 19 (1)(a)] on which of the following grounds ?

(@) Contempt of court

(b) Protection of minorities

() Friendly relations with foreign states
(d) Sovereignty and integrity of India
(e Ijecency or morality

Answer options :

1) @ ®) @) (e) (2) (@) (©, [d)

@) @) ©. @), (4) All above

Tl HIHEE AR /SPACE FOR ROUGH WORK PT.O
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21. TR fafEaamEd weets Sk faum gwe o ?
(1) fafudzamed vefan smae fdas aurRid) T3 9Ot 3eqido™ © B 7@l
(2) faena sfiea sefen sy <t fadas faymmR oor Foo 90 @ faurmas faos o
TEAT TE T AL
@) = fades faurea vefia ore fhar faumadesy veg dm faer ofvesa vk s
4 fadas foymaas fouds o0 olad © 89
(4) AT THE TR

Which one of the following statements regarding Maharashtra Legislature is incorrect ?

(1) A bill pending in the legislature is not lapsed by reason of prorogation of the houses.

(2) A bill pending in the Legislative council which has not been passed by the Legislative
Assembly is not lapsed on a dissolution of the Assembly.

(3) A bill pending in the Legislative Assembly or which, having been passed by the
Legisiative Assembly is pending in the council is lapsed on a dissclution of the
Assembly.

(4) None of these

22, Hie TSR G HLOTT S9SN e S

(a) Ao (i) 1962
(b) vt (@) 1994
() Sl (i) 1931
(@) <faw afikm  (iv) 1955
gt 39T

(@ (b) (9 (d)
1 ® Gv) @)
(2 @) Gv) @ i)
3 v @ @ @)
(4 ) @) @ ()

Match the pairs of Aduit Franchise obtained countries :

(a) Sri Lanka {iy 1962
(b) Malaysia (i) 1994
()  Australia (i) 1931

(d) South Africa (iv) 1955
Answer options :
@) (®) (o ()
M 6 @) G 6
(2 @) @) @ 6@
@ v O @ (@
@ @ @ @ @)

ool SRIHTETS |1 /SPACE FOR ROUGH WORK
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23, RIBtE s S/ e v

HIDT TR
(a) 343 - ol Afyga W
(b) 345 - AT |ed it I e, s fadae 3. wdl SrRvard? amm
(c) 348 - TRSUSITE! SAfagHd W/ S W
(@ 351 . fE& wndren famas ey
it I :
O @0 @ @ © () @ @ @ ©
Find the incorrectly matched pair/s :
Article Provision
(a) 343 - Official language of the Union
(b 345 - Language to be used in Supreme Court and High Court and for
Acts, Bills efc.
(c) 348 - Official language/languages of a state
(d) 3351 - Directive for development of the Hindi language

Answer options :

1) (@ ®) @ @) ®)@© G @ @ 4) (b

24, TEMR &7 FEem |t geui et faur eem =
(a) a1 wiggid T onftn Sewai=ar Frasi=t uga sifavaran sifysr =g TTe-me aTenl.
(b) O WA % WA, T e 31 go) Feelivn WiafHtaa Soamel T Te aig &

RETR _
FwYR! SO faurE)/ 3 geae og ?
(1) = (a) (2) T (b)
(3 &= (4) wdSYH! TR AR

Consider the following statements regarding the Metropolitan Planning Committee :

(@) The composition and the manner of election of members of such committees are
decided by State Government.

(b) The State Government may make provision about the representation in such
committees of the Central Government, State Government and other organisations.

Which of the above statements is/are incorrect ?
() Only (a) (2) Cnly (b)
(3} Both (4) None of the above

Tl TRIHTEIS ST /SPACE FOR ROUGH WORK PTO
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25. GOGUE] R IR AT THIRETE] Saa=a1 I WS IR ?
(1) fon (2y it (@) Ty (4) TN
In which of the following states, seats are reserved for Scheduled Tribes in the Lok
Sabha ?
(1) Bihar (2) Odisha (3) Tamil Nadu (4) Uttar Pradesh
26. HIOTHA T I
(a) TEU MR uftge (b) TEF A
(c) TH-AmAfdT TR (d) g frare
qgigt 397 ;
1) (@), () (d), (b) (2) (). (). (d), ()
@) (b), . @), (d) @) (), @) () (@
Arrange the following in chronological order :
(a) 1" Round Table Conference (b) Nehru Report
() Gandhi - Irwin Pact (d) Communal Award
Answer options :
1) @) () (d), (b) (2)  (®). (). (d) (a)
3 ®), () @) (@) @) ®), @) (©) ()
27. 3. 1857 =N IOEW BT 428 T Wiy =T WEYHrte Yg o S fesmo it s

Fet ot 2

(a) D b W

qaidt 39N

(1) (a) *NfT (b) T (2)
(3) (c) ¥ (d) = (4)

(©) TR (d) afee

(b) Y (c) T
(a), (c), (d) T

The Holkars were neutral during the Revolt of 1857, yet their soldiers revolted at which of

the following places ?
Bhopal

Answer options :

{1) (a) and (b) only
(3) (c) and (d) only

{(b) Mahu

@)

(2)
4)

Indore Mahidasi

(c) (d)
{(b) and (c) only

(@), {c), (d) only

shodl] SHTHTATS ANT /SPACE FOR ROUGH WORK
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28. .9 1920 TEX AT YUY g i WA Tl T FOAE ST,
(1) T wey (2) W e A
(3) faed e 4) T FTERE
In1920 AD. _ was appointed as the first High Commissioner of India.
(1) Edwin Montague (2) Sir Williamn Meyer
(3) Sidney Rowlatt (4) Lord Chelmsford

29. 1873 WA SRy wiven fSamde SaeiHt Jaa—ai=t 9o ©I9d F91 2kt 7

(1) Twes (2) R (@) weR (4)

The farmers from1 which district of Bengal had established an organization of Farmers in
1873 ?

(1) Rajmahal (2) Murshidabad (3) Bhagalpur (4) Pabna

30. " ATEA R ¥ TR Y URdE gEear fafen soaerst Ieee 8 ?

1) s (2) TWER (3) e (4) foueE
Operation Polo was undertaken to merge which of the following states in Indian Union ?
(1) Junagadh (2) Hydrabad (3) Kashmir (4) Limdi

(a) faeneft (b) =" (c) ¥

At I

(1) oT=d 313 (2) TmHe fad

(3) fed et () WSt

Who had started the following periodicals ?

(a) Vidyarthi ~ (b) Congress (c) Sadhana
Answer options :

(1) Acharya Atre {2) Ramananda Tirtha
(3) Hirve Guryji (4) Sane Guruji

FoAT FHHEIS FET /SPACE FOR ROUGH WORK Sy
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32, Sire SedT
(a) Tor=an () O FooTE BT
(b) E@= (i) ST gEEITH WS
{(¢) ETH (it)) FOUST qurRt Wi et
d) «i=ue (iv) oI AR S
Taidt 3w ;

(@ (b) o) (d)
1) @ @ @) )
(2) @) v) @) @)
Gy @ @) 6 ()
@) G @ Gv) @

Match the following :

{a) Kichakvadh (1)  Ganesh Ballal Fansalkar

(b} Swadeshi (#) Vasudeo Purushottam Sathe
(¢) Vang Bhang (tii) Krishnaji Prabhakar Khadilkar
(d) Bhimrao (iv) Laxman Narayan Joshi

Answer options :

(@ (b) () ()
1 () @ G ()
(2) @i Gv) i) (i)
(3) @) ) @) o (iv)

@ G @ @) @

HET IR JA0 /SPACE FOR ROUGH WORK
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33, WASTH! FIUA T Hel €@idl Fva w7 53 B ?
(@) HRA T (by & fayEm
() @ fee (d) Teuw, &
Tt Sy
1) @ % @) (a) FfoT (b) WF
@) (@), (b) 3T () " @ @ b O @
Which of the following honours were Conferred on Maharshi Dhondo Keshav Karve ?
(@) Bharat Ratna (6) Padma Vibhushan
(© D.Litt. (d) LL.D.
Answer options :
(1)  {a) only (2) (a) and {b) only
(3) (a) (b) and (c) only 4 (a). ®) () (d)
34, WeEqy TS IRESE T anfir i i

(1) mmmmtﬁmgmﬁ
(2) T PR enfon grigT e

(3) TG FOwOIl SO MRS SIS
(4) ST TS M T S

The Kolhapur Praja Parishad was established by the efforts of and

(1) Madhavrao Bagal and Ratnappa Kumbhar
(2) Damodar Bhide and Damodar Joshi
(3} Hanmant Kulkarni and Gangadharrao Deshpande

(4) Khanderao Bagal and Damodar Joshi

THoeaT THTHTETSr ST /SPACE FOR ROUGL WORK
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35. FON YWE WEEE a3
1y =T s (2) TF. IS
(3) . W (4) Tz WE
Krishnaji Prabhakar Khadilkar became a follower of
(1) B.G. Tilak (2) GXK. Gokhale
(3) MK Gandhi (4) G.H. Deshmukh
36. Tosperen sererd siufy fiavedt afde e Taem e,
(1) <eHd gHY (2) wEfFrE w1 faere
(3) aoied (1) wH fag=m
The discussion between Vishnubaba Brahmachari and the Missionaries is found in the
book _ .
(1) Vedoktadharma prakash (2) ‘Samudra Kinaricha Vad Vivad’
(3) Arunoday (4) Dharma Vivechan

37. UV HINE oS e SHEVEE S AT T B e ey ke wifteed @
YT ?
(a) FTSTR TAA/ FHED

(b) T HiEd

() wHfRYe

(d) TFEEEE G 9 gEiw

it I

(1) () ST (c) e (2)  (b) 3T (d) FH

(3)  (a) 37T (d) T 1) (@), ®) 3 () TR

‘Yomeshchandra Banarjee, the first President of the National Congress stated the objectives
for the establishment of the National Congress, which were they ?

(a) Social Equality/ Uniformity

(b) National Feeling

{¢) Secularism

(d) Development of sense of unity and consolidation of the same
Answer aptions :

(1) (a) and {(c) only {2}  (b) and (d) only

(3) (a)and (d) only (4) (@), (b) and () only
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38. FOHEM YW FIZ T AT FIFGH HOAE A 7

(1) 1773 =0 Tygofin = (2) 1784 =1 fizm sfear 3

(3) 1793 =1 TG G (4) 1813 I TG FER

By which law was the Supreme Court of Calcutta established ?

(1) 177%s Regulating Act {2) 1784’s Pits India Act
(3) 1793's Legislative Act {4) 1813's Legislative Act

39, WAGUH! FIUET TET FUET 2R ?

(1) st - UERE FeRde @ e

(2) @, - Tt st gfem T

@) e oo - e iz vidifesn oifw fafew w1 dfeam 1885 - 89
(4 foeefea - fafen 9idd @ e

Which of the following pairs is correct ?

(1) Bagachi - Private Investment in India

(2) S. Gopal - Emergency of Indian Nationalism

(3)  Anil Seal - Problems and Politics of British in India 1885 - 89
(4) Hiralal Sinha - British Policy in India

40. ‘=& e’ & yfw s fofee ?

(1) TS TR () TRt SE

(3) THRER fereies (4) ufdeTy o=

Who wrate the Booklet “Bandi Jiven” ?

(1) Chandrashekhar Azad (2) Rasbihari Bose

(3) Ramprasad Bismil {4) Sachindranath Sanyal

FHEAT HIFTES! ST /SPACE FOR ROUGH WORK YD
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41, HEURTE R s & fFd en?

(1) 200.60 wrg BT (2) 207.60 T BFL -

(3) 307.70 oG BT (4) 318.60 T FHRT

What is total Geographical area of Maharashtra ?

(1)  200.60 Lakh hectare (2) 207.60 Lakh hectare
(3) 307.70 Lakh hectare (4) 318.60 Lakh hectare
42. HFI AR A% § FEE OFER A feradt. 3 =t 3.
(1) 513 (2) 213 (3) 102 (4y 302
Because of Kokan Railway the distance between Mumbai to Kochin is reduced by
_km.
(1) 513 @) 213 (@) 102 4) 302
43, TSI HIUE! T TS T T A 2
(1) o (2) WU (3) WIS (4) W
Which of the following river is not a part of Godavari basin ?
(1) Terna (2) Pravara (3) Manjra {4) Bhatsa
44. T TS 798 §81 3R,
(1) =g (2) (3) wiedt () =t @A
_ ___is major port of Gujarat State.
(1) Kandla (2) Kochi (3) Mandvi (4) None of the above

&
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45, s am fewrE 71 iR i FSH o
(1) IFsier Dot () HS oui
(3) FreEr it (4) rEEn ool

_is recorded in world heritage site.

(1) Ajanta caves () Karle caves

(3) Pitalkhora caves (4) Bedsa caves

46. TASUH! wvE TR qod fae 9 o7e 2
(1) o R (2) R
(@) T TN (4) TE
Which of the following states has high tank irrigation ?

(I) Andhra Pradesh (2) Maharashtra

(3) Madhya Pradesh (4) Guijarat

47. Tifag, e, siee @1 SR S EEole! T T e dee ?

(1) 3@ (2) Te=_mm (3) Y (4) oM

Gomit, Pardhi, Bhill these Scheduled tribes are mainly found in which of the following
district ?

(1) Akola (2) Buldhana (3) Dhule (4) Thane

T HAEES WA /SPACE FOR ROUGH WORK PTO
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48. 2011 =41 SFVHTER 3HYfad Sdiel Seden el fejernd waifusw e,
(1) A (2) eiREE 3) ™ (4) Herg
As per census 2011 ___ dustrict has highest population of schedule cast in
Maharashtra.
(1) Nasik (2) Aurangabad (3) TPune (4) Solapur

49, R’ aeet dudaifis O

{1) 1950 - 1955 (2) 1941 - 1946 {3) 1951 - 1956 (4) 1961 - 1966
Indias First Five Year Plan

(1) 1950 - 1955 (2) 1941 - 1946 (37 1951 - 1956 (4) 1961 - 1966

50. VRN WE SISy HIvE ?
(1) At Wb (2) 9w 9
(3) Frafr v (4) TS AT

What is the main water divider of Maharashtra ?

(1) Sahyadri Mountain (2) Satpuda Mountain
(3)  Nilgiri Mountain (4) Aravali Mountain
51. VRIS ufgedd SIsEr A G 9.
(1) wE (2) 4d (3) ol (4) TG

The first nuclear reactor in Maharashtra 1s known as

(1) Cyrus {2) Dhruva (3) Purnima (4) Apsara

FoAT “HTHTATS AT /SPACE FOR ROUGH WORK
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52, SISl AT
et TRl
(a) 7T (@) e
(b) ST @)  TERRA
() FoRm (i) IAEE
(d) FFaHS (iv) HIHE
wuldt 39T :

(a) ) (g (d)
1 @ @ @ )
(2 @) @) @ @
@) @ @ (@v) (i)
@4 O @ @) ()
Match the following :

—

District Taluka
(a) Nanded {ij  Bhokar
(b) Jalna {iiy Bhokardan
{¢) Buldhana (i) Umerkhed
(d) Yavatmal (iv) Sangrampur

Answer options :

(@) ) () (d)
1 @) @ @ ()
Q) (v) (@) () (i)
3 G @ (v) (i)
4 @ G) @v) (i)

53, TERRR SIOME 9 910 eI o,

(1) TEEd 9 SR (2) T T Tl

(3) féiet a aftm (4) TEaHE § TR

The dolomite deposits arein ______ districts of Maharashtra.

(1) Amravati and Akola (2) Nanded and Parbhani
(3) Hingoli and Washim (4) Yavatmal and Ratnagiri

oA HIATETS AT /SPACE FOR ROUGH WORK S
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54, . _ B TN el W fw s

(1) HER () (@) e @) venfd

. ___is the first Tourism djstrict in Maharashtra.

(1) Kolhapur (2) Nashik (3) Sindhudurg (4) Rammagiri .
55. oA FeeRirsal i wiete s SivERn faeaie e Jigd ?

(a) @R, R, S, fmE

(b) Sorrom, AW, WA, JRE, e, HiTEE, I

(¢) TR, SeeTe, SEFER, Wl i, e

i I

(1) R faa (a) SR &R, (2) W faUr (b) IR IR,

(3) e faYM (¢) SR ST @) 0o ud faul uF e

To which of the following district boundaries are connected to Jalna district ?

{a) Buldhana, Parbhani, Beed, Aurangabad

(p) Buldhana, Washim, Parbhani, Nanded, Beed, Aurangabad, Jalgaon

(c) Aurangabad, Jalgacn, Usmanabad, Parbhani, Hingoli, Buldhana

Answer options :

(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Only statement (c) is correct (4) All the above statements are wrong
56. 1950-51 A 2013-14 A1 H=2ld CHY W@ QWHTG SIGAHE ¥ @A AT g

gt

(1) fex (2) e (3) et (4) ™

Since 1950-51 to 2013-14 the share of agriculture sector in total gross domestic product
indicating _ trends.

(1) Stable (2) Declining (3) Increasing (4) Neutral
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57. TENE TS90S SiH faTe el 8 YRad qoeTs o 318
(a) Vit anftn e wiswan T
(b) a7 3nfor EfHs dt
() S FM
(d) WA, Hoded, 4
TSI FR faur ateT o ?
(1) T (a) (2) (a) =W (b)
(3) HH (d) @) (o) 3o (d)
Konkan division of Maharashtra has a sustainable comparative advantage in the following
sectars. .
(a) Agriculture and Agro Processing Industries
(b) Torests and Mineral Wealth
(¢) Textile Industry
(d) Fisheries, horticulture, tourism
Which of the above statement is/are true 7
1) Only () (2) (a) and (b)
(3) Only (d) (4) (9 and (d)
58.

TERY A 2013 FazH i sare THRE AfITER, Te el 99 TR =
iR} 12’ WU WO HE e, :

(a) FEwd (b) T TiiE (©) o d) ies
FEAGIF! T b S 3T,
1) (a), (b) 37 (c) (2) T (a) U (B)
(3) e (b) MM (c) (4) T (d)

According the Government of Maharashtra 2013 Kelkar Committee Report Publication,
following communities from Maharashtra are enumerated as Primitive Tribal Groups.

(a) Katkaris (b) Madia Gonds (¢) Kolams (d) Bhils
One of the following alternatives is correct.

(1) (a), (b) and (c) (2) Only (a) and (b)

(3) Only (b) and (c) (4)  Only (d)

oAl WHRIETETS AT /SPACE FOR ROUGH WORK
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59. S oM
qret - 1 et - 11
ECaL I PREEC) ( IS TARTG AH (2018-19)
HHO IAATAT TFRANTTAN )
(a) TSR G2 @ 121
(b) TS (i) 48.8
(c) o 3TEIH TEW yFEFH! T (iii) 2.2
(d) TS TP ST S F HeqS TH0 (iv) 3.3
i 34 ;
@ B (o (@
M @ G @ @)
@ @ O @) @
@) v @G @ @
(4) () Gv) (@) @)
Match the following :
List -1 List - I

(Fiscal Indicators)

(a) Fiscal Ijeficit
(b) Revenue Deficit
{c) Total Outstanding Liabilities
(d) Gross Tax Revenue as percentage of GDP
Answer options:
@ () (© (@
H o6 G G )
2 @ @) @) G
@ (v @) @ @
@ G Gv) () ()

(Budget Estimates (2018-19)
as "% of GDP)

G 121
i) 48.8
(i) 2.2
(iv) 3.3

AT THIMMES ST /SPACE FOR ROUGH WORK
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60. WERE TIHTEN 2016-17 =1 AR JASAOR T Gian=a1 vegonde, fafay ooy
= HeeER, fafay mege Haien e a1 Seois! FIVE 3T 2

(a) T INRA Yo, okt F, 30 W

(b) oS 300 Yoo, T TARA Yo, TR H

(c) fomt =, fores anfr gl o, T A Yo

(d) e snfon 0l Yok, TT IR YO, T W

Tl B! faum/ faum |te s 2

(1) & (b) (2) HH () 3) (o) () wH()

According to the Maharashtra Government’s Budget Estimate for 2016-17, which of the
following is the correct sequence of the relative shares of revenue sources as per their
importance in the total revenue ?

(@) State Excise Dulties, Sales Tax, Other Taxes

(b) Tax and Duties on Electricity, State Excise Duties, Tax on Vehicles

{c) Sales Tax, Stamps and Registration charges, State Excise Duties

(d) Stamps and Registration charges, State Excise Duties, Other Taxes

Which of the above statement/s is/are correct ?

(1) Only (b) (2) Only (0 (3 (Qand(d) (4 Only(d)

61. OHEET AU (HQAFER gl Ty
(1) SrEdE I ey
(2) ! Ay yHom SEEEn fer TEd
(3) whdaE At X fer wedq
(4) U= FoRR! AR

According to the theory of demographic transition in the second stage there is
(1) rapid growth of population

(2) population remains more or less stable

(3) rate of population growth remains stable

{4) none of the above

HoAT RIATEISE ST /SPACE FOR ROUGH WORK —
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62. WIS TH T, WERIY Al TN A Haitgd a9 2015-16 TS AT T @
o it @ (vaaia) sufor g et e I (feaam) guifa.

THBIH FI fAUE SEt AR ?
(1) Z 262 53 =9 (2) T 242, 60 Temw
(3) T 324, 44 fegg (4) ¥ 370, 50 feug

One of the following alternatives shows : the cost of generating one day of employment
{%) and average employment per household (days) respectively for the year 2015-16 related
to the MGNREGA Scheme for the State of Maharashtra. .

Which one of the below statement is correct ?
(1) 2262, 53 days (2) T 242, 60 days
(3) ¥ 324, 44 days (4) T 370, 50 days

63. g TETATE TN GIOGa®! HIVE T ' TSI Fareer] S (FRL) 3SR 30T ?

(a) I W, WIS (b) FATH, FeB
() darileTg (d) ufe=m s
TASUHT HOR I IURT 378 ?

(1) W (a) (2)  (a), (b) 370 (c)
(3) TH (b) #) HR(d)

Which of the following states adopted Fiscal Responsibility Legislation even before the
Central Government ?

(@) Uttar Pradesh, Punjab (b) Karnataka, Kerala
{c) Tamil Nadu (d) West Bengal
Which of the following answer is correct ?
(1) Only (a) (2)  (a) (b) and ()
(3) Only () (4)  Only (d)
64, TSR Tate TEEHEY (1981 O 2012) HUEH BT LW SAAAG ] B,
(1) 3.5% (2) 5.9% (3) 57% (4) 4.2%

The average GDP growth rate during the later phases of planning 1981 to 2012 was

(1) 3.5% ) 5.9% (3) 5.7% (4)  4.2%
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65. AR YENE T’ A WOl T Ak

(1) wEfEFRD

(2) faenia

(3) Wt (ermdt=r fHagiar e
(4) wdois a4

“Universal Basic Income’ has following components :
(1) universality

(2) unconditionality

(3) agency (respect for recipient’s choice)

(4) all of the above

66. 2004-05 Gl WEST$ SUFH=IT FATHEET a7 NfdF vaiamome g 356E Jed
(1) i ey feeadda
(2) ArRETE 9 Ty HdATE e
(3) WEWTE ITHAHE WA SEpdl §E T
(4) 0% gE IurEhAr

According to results of PSE’s in 2004-05, PSEs show much better results in new economic
environment due to.

(1) Grant greater autonomy

(2)  Reduction of bureaucratic and political control
(3) Infuse Private Culture in PSE’s

(4) All the above measures

67. W Furwc MmiEw T @Eielst ot 3y Rd 7
(1) O STEA a8
(2) TR SHime g
(3) T IS IS T e 0
4) =l
Which of the following are the objectives of economic planning for the agricultural
sector 7
(1) increase agricultural production
(2) increase employment opportunities
(3) reduce inequality of incomes in rural area
(4) all the above

HoeHT SHIHTETS! ST /SPACE FOR ROUGH WORK
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68. SiEa ol
At - 1 arer - 10
( FTRT [T ) (3fgEy)
(a) WHTHH 1 A () <fea T Fam uedst Seof
(b) W G (i) o famo S anfeds s gumor
(c) TUTTHR =A@ qem (itl) PR wOE! fargdieT
(@) I fewmin ewpen Ao (iv) H&H s At anfn fawa
it s

@ () (o (4
Q6 @ @) ()
2 G @ 0 )
() vy Gy (@) ()
@ Gv) @) ) ()

Match the following :

List - I List - IT
(Government Scheme) {Objective)
(a) Pradhan Mantri Mudra Yojana ()  to provide LPG connections to BPL
households
(b) Saubhagyva Scheme @iy to enhance financial health of
electricity distribution companies
tc) Pradhan Mantri Ujjwala Yojana (ii) universal houschold electrification
(d) The Ujjawal Discom Assurance (iv) to develop and refinance micro
Yojana industrial activities

Answer options:

(@ () (o) (d)

G @) @ Gv)
(@) @@ @ @ Gv)
3y (v) @) @ )
4y () (i) @) (1)
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69. S WEUE G ____ THd Tl AT WG AR, 3 HA IF T WA I
(1) 2033 " (2) 5033 (3) 40.33 (4) 33.33
If deprivation scoreis percent or greater, that household is multidimensionally
poor.
(1) 20.33 (2) 50.33 (3) 40.33 (4) 33.33

70. Afgew Gor U o e W0 w1 SR HEE = a7 FrEew g
() wEEtE Td (2) Az gEE
(3) W HEY® (4) =ie wd

The monetary policy refers to a regulatory policy where the Central bank maintains its
control over the

{1) Public expenditure . {2)  Supply of money
(3) Tax revenue {4) All the above

71. 3iqds s fEtonE SerarEet are A FRHiTeR Teletst wn faun e
3R ? -
(A) S AT R0 §&A SAeeT FHi ST W WEfda R g i s
(B) SR ATt TR0 e A S 318 W aafda foon qe stere awiat .
T waig e ;o |
(1) faur (a) sufn (B) =R v HAq.
2y faum (A) ¥ A (B) J9H TR,
(3) Taum (A) 9@ YA (B) I L.
(@) faum (A) 9 (B) IS ST IRA.

Which of the following statements is correct according to the laws of reflections for drawing
ray diagrams of a concave mirror ?

(A) Ifthe incident ray is parallel to the principal axis then the reflected ray passes through
"~ the focus.

(B) If the incident ray is passing through the focus then the reflected ray is parallel to
the principal axis.

Select the correct option :

(1) Statements {(A) and (B) both are correct.
{2) Statement (A) is correct and (B) is wrong.
(3) Statement (A) is wrong and (B) is correct.
(4) Statements (A) and (B) both are wrong.
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72. S 0.3A T (SRIAUN 4180 U9 EOHT T H8orA W fHfemd! yafed @ fond
Fol 3o v dide ?
(1) 240 (2) 540 (3) 418 @) 60

Find the heat generated in calories if a current of 0.3A is passed through a coil of resistance
418<) for one minute.

1) 240 @) 540 (3) 418 ) 60

73. AT Sl A

(@) HLE W7 () forrauigr gusa ffifdl
(b) i S (i) o e
(c) T AT (i) weprema fafem
) TRFS HS (iv) ferge ftwurde ow
(v) forgga s
it I

@ () (& (d)
(1) G (@v) @ @
(2) @) @) @ (@)
() (i) (v) @) @)
@ @@ (v) @Gv) ()
Match the following :

(a) C.V. Raman () Magnetism due to electric current
() George Ohm (i)  Electric Motor

(¢) Hans Oersted (i) Scattering of light

(d) Michael Faraday (iv) Resistance in an electric circuit

(v}  Electric current

Answer options :

@ () (o (d)

(1 (H) @v) G @
(2) G Gv) @ (i)
3 i) (v G ()

) @) (v) G@v) (i)
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74, FAEHRO GF SOHEETAE ___ ® #W.

(1) CoHonyo @) CHy

@) C.H,y_, (4) hetE SR

General formula of alkynes is .

(1) CHonss (2) CHyy

3) C.Hy_s (4) None of the above
75. e oEl

I I

(a) Trafege (i) CuCO, Cu(OH),

(b) HERE (i) ALO, xH0

(c) doE (i) ZnCO,

(d) wpoUE (iv) FeyOy

(v) Fey,0Of

(vi) CuFe5,
(vil) NajAlF,

(viii) ZnS

TG S

@ () (o ()
O @ ) v (i)
@) (vi) (v) (1)  (viii)
(
(

—

@ i) (v @) i)
(4) (i) (vi) (vii) (@)
Match the columns :
1 I

[

(a) Cryclite i) CuCO; Cu(OH),
{b) Magnetite (i) ALO; xH,0
{c¢) Malachite (iii) ZnCO,
(d) Sphalerite (iv) TFesO,
(v) Fe, (4

(vi) CuleS5,
(vii) Na,AlF,
(vii)) ZnS

Answer options :

@ (b (© (d

(1) () (v) (vi) (viii)

(2) (vi) (iv) @)  (vii)

() (vid) v O (@)

(4)  (vii) (vi) (viiD) (i)

ol TRIMTETSE 0T /SPACE FOR ROUGH WORK
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76, ITOWEAMAWE I IE.
1) WIS, 9HE () Ties fiem
(3) s FEfE (4) HE
The Discoverer of electron is :
(1)  Sir J.J. Thomson 2) Gold Stein
(3) James Chadwick (4) Rutherford
77. 4y A faer
AT WrEat w0 SHET FIE 7o ?
(@) UAA, UGA, UGC (b) UAG, CGA, AGC
() UGA, UAA, UAG (d) CGA, UAA, UGA
vt sy
(1) (a) 3007 (b) (2) H (a) @) () (4)

Select correct answer.

Peptide chain termination occurs with which codons ?

{a) UAA, UGA, UGC (b) UAG, CGA, AGC
(©) UGA, UAA, UAG (d) CGA, UAA, UGA
Answer Options :

(1) (a) and (b) (2) Only (a) (3)  Only () 4)

{d) and {(c)
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A 37 | H11
78. WIAOUH! B fauM T 31ed ?

(a) < Wiotave g% Sid 319 WS .

(b) Wdie Sl aFd Yom A1 M e .

(c) ST SSAOD ¥ W Il Wees 9.

(d) N faeherg § wmrr: o via o "o

it I6Y
(1) () & (2)  (b) 3T (d) e
(3) (a) ®H : (4) (a) ST (c) P

Which of the statements given below is/are correct ?

{a) Taenia solium is called as Hookworm.

{b) Fasciola hepal:icaéis commonly known as liver fluke.

(c) Ancylostoma duodenale is also called as Tapeworm.

{(d) Nereis chilkaensis is commonly called as Ragworm.
Answer Options :

(1) {(c) Only {2) (b) and (d) Only
(3 (a) Only (4) (a) and () Only

79. A9 U AL} AgeEAd

(1) RIS G (2) =N FEE

(3) IR = (1) sfommsn =Em
Brunmer’s gland occurs in :

(1) Submucosa of duodenum (2) Submucosa of stomach
(3) Mucosa of oesophagus (4) Mucosa of ileum

Sl HIFEIGH ST /SPACE FOR ROUGH WORK B
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80. STET Al ATeRTOTEA TGS hIUT Ty TEeTe et T e 2

(a) TR Hem (b) TR R

(c) ORI A (d) TR foreen

ThotH HIo faum/faumr ste e ?

1)  (a) ¥ @) (o) ®

3) (), (b) M (c) FF 4) (@), (®), (o), (d)

Which chromosomal characters play important role in classification of plants ?
{a) Number of chromosomes (b}  Morphology of chromosomes

{c) Size of chromosomes (d) Aberrations in chromosomes

Which of the given above statement/s is/are correct ?
(1) (a)only (2)  (b)only
(3) (a), (b) and (c) only () (@), (b), ). {d)

§1. WIHGIH! I T e dogdt Te, fasmy i sree Ty «ist Faam.
(1) SEwE (2) e QI RELEIE] (4) Agastst

Which of the following plant groups has vascular system, produces spores, but does not
has seed ? '

(1) Bryophyta (2) Pteridophyta (3) Gymnosperms (4) Angiosperms

§2. 'O sorde IfE 1A AEM AwEel MY T TMY Eieiets! S0 He e et
FRUAYT 3 ?

(1) BT (2) EYiET ThE

(3) sy FAcSter (&) FZTTFH

The plant disease “Late Blight of Potato” is caused by which of the following organism ?
(1) Phytophthora infestans (2)  Pythium Species

(3) Albugo candida (4) Colletotrichum

HoAT HINATH AN /SPACE FOR ROUGH WORK
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83. T WAIHH, FHGY WO IVl O JOvd eI e rd ?

1) =RRfREEe 99d O, tddhe Jadt O 9 e §adt o

2) dfrddTe vad O, TRNETe 598 9% 9 Sidkiwe 498 9%

@) ik g6 3%, Eede §ag 3% 9 giddHe wadt 3%

4) e Fadt Ik, THASET Hag) AF 9 T Haat <

In Mammals, structurally the sense organs take which one of the following three basic
forms ?

(1) Neuroepithelial receptors, Epithelial receptors and Neuronal receptors
{2) Epithelial receptors, Endothelial receptors and Neurological receptors
(3) Mesothelial receptors, Endothelial receptors and Epithelial receptors

(4) Neuronal receptors, Epithelial receptors and Cutaneous receptors

84. TogEa fawfaa AR anfor S vern dafe/dswmo o wEifue 9.
(1) e ShE (2) ita Ta (3) Tofedts gt (4) ot gad
The infections which usually develop slowly and are long-lasting are known as _
infections.
(1)  chronic (2) acute (3) systemic (4) latency

85. STV IEEF A AT AW _ W we AW

(1) e (SHME Sarfa wr) ) &=

(3) SRrEd (4) A ysal
Sensory nerve cells called Rods and Cones are found in
(1) Cochlea (2) Dernus

(3) Epidermis (4) Retina of the eye

HeAT HMTEE AT /SPACE FOR ROUGH WORK PTG
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86, iAW HSUia®ET HTHH Y 9 Z <t foua Fe.
18 10 27| 10
{ 1 } vv
699 998 8499 4) 9496
Fmd the value of Y and Z respectmely after 1denhf) ing the rule in number arrangement.
G S (@
17| Y
6and9 (2) 9and8 8and9 9 and 6
87. WehHmH IRl TS X F Y%mmﬂm;md;@;.mmwgéﬁ@ﬁmﬁ?ﬁ

STHITHETL

o7 X TH TERS SF 5 Y U SRS ST

X 41 "<l e faeg s wF g WSt o1 Treel o, gl Wew faes smedt g wiEt
1 (et ame. Soem gt UE fiees 3 gut Sive {ees 3T,

Y 3 =9l FEd T TR faeg g WiE (e Tad o, gEen wer faeg 7o St e
TiH0 W gad Gt R, S We fasg g WE = 7 visdt TR,

X A T T A Y N 1 g e W s a0, X W e 9 Y ¥ quied e
TR T8 T X ST oo JerasR Jurn Y === ger=n 31 feel,

(1) fafEEga Hmo (2) UHW HIA AR T

(3) FR T=A 4y fafrea w00 v T8

You are having 2 cubes X and Y in front of you that are placed adjacent to each other.
Study the information about these cubes that is given below :

Cube X is on your left side and cube Y is on your right side.

One of the opposite faces pair of cube X is painted red. Another pair of opposite faces is
painted blue and one of the remaining faces is painted yellow and other one is violate.

Only one pair of opposite faces of cube Y is painted blue. Another pair of opposite faces
has brown and green colour while remaining opposite pair has black and white colour.

If red face of cube X and blue face of Y are touching table, yellow of X and brown of Y are
facing you; then select the colour of face of cube Y that is facing blue side of cube X.

(1) Definitely black (2)  Either black or white
(3) Only white (4) Cannot be determined
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88. TEHEYd Wvaml Mg YEtoamm fadht smRm. e St aiet 7 .. 3. < 2 9 et
et SUEEEAT I o, T 9 WY Ao S SReEadl S, Wude o, S anfo
T 9 Y9 =1 SOAF=A YR STt e, A= Sisrgaant ST, WIes= Tl St Seiavir
ERICREEE!
(1) wfed! 37T ome (2 63
(3) 56 (4) 42
Measurements of lizard like animal are as follows. Its head is 7 cm long. Its body length
between the head and the tail is equal to the head plus tail. The tail length is equal to the
head plus one half of the body length between the head and the tail. Select the option that
indicates total length of the lizard.
(1) Information is insufficient (2) 63
(3) 56 (4) 42
89. feown den afehdie goia W e

6, 24, 72, 240, 726

1) 24 (2) 72 (3) 240 4 726
Identify the wrong term, in the given number series :

6, 24, 72, 240, 726

1) 24 2 72 (3) 240 ) 726
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90.

42 A

et Hifed! siesirgd® e onfor foremesen gy 99t @

&0, wdi, fror, S, P, wom anfo geme M 9 AR nerad e 16 VI
TIoFE UUAE 3T A A, B, C, D, E, F AT G T OW smaTed waiae! s ' fae
R, Wreiel M0 T 1 36 SIS 3 AR T9e 1V A Foerd gordd e A 98l Sae.
YR orEd 999 1113 Saet 97 e C o D 918t e g0 gorga wesl B |6t @iel T
9w [ fofan [1 A daedl €1, Taaiard! gonaa 940 VIS i@ E 918l e, 4 VIIY el F et
T e, FesTd gored 19 |3 5Tt 9 el C TIET AL T 11 ¥ onu gored gae
T,

Y43 V A Smdt qorgd Sad 2
1 = (2) o (3) @ (4) g
Study the following information carefully and answer the question asked :

Seven candidates Fari, Samir, Nilesh, Shailaja, Nikita, Laxman and Sujata are interviewed
for selection as teacher by difterent panels ! te: VII {or different school A, B, C, D, E, F and
G not necessarily in the same order of schoals and panels. Nilesh is interviewed by panel
IV for school A. Samir is interviewed by panel Il but not for school C or D. Hari is
interviewed for school B, but not by panel I or 11 Nikita is interviewed by panel VI for
School E. Panel VII conducts the interview for scheol Fo Shailaja is interviewed by panel
I but not for school C. Panel II does not interviewed Laxman.

Who was interviewed by Panel V 7

(1) Han (2) Shailaja (3) Laxman (4) Sujata

a1,

A T IEUSHEA B I1 SR YRIEHS AMYIE 9 41 SIS 3ieq, aidtes fasi=n 499 P, Q & R e
o foei=n 391 1, 2@ 2 31 Fet ). dAigsd TEHER ATe Q A W) SadrE. UhT TE=A TS
P, 193 91 |t 7R gian. SAr 198 el @ R SI9RATT 5g 8l S0 R SRR i ¥ A IRA
Freor=a1 W TR TR AU S YT 3. Sl goTa Hlges 3Td S71fur wares AnTe
oy o TEE T A de SRSt STee AReel/® W e

(1) R Q (2) WP (3) FE 2 () Renfon2 S=d

Al

There are six routes for reaching from town A to hill town B. Three of these are indicated
bv P, Q and R and other three are indicated by 1, 2, and 3. Route Q is closed during
slormy weather, Roules P, 1 and 3 are affected by floeding of one river. If route 1 is
Cosed, route R gets closed automatically as both are bifurcations of the single route from
A after some distance. Select the route/s which is/are available for transport when
weather is stormy and causes flooding of the vivers that affect the routes.

{1y Only Q (2) OnlyP (3) Oniv 2 {4) R and 2 both

el THIAEST ST /SPACE FOR ROUGH WORK



A 43 _ H11
92, WU p WM q 1 WRRT 20 3R, q 0 y = WERT 25 AR, p, q q y I FO@I
23 TR, T p Ffor y R wradi fohdt e ?
1) 24 2) 19 @) 29 (4) 25

If the average of p and q is 20, the average of q and y is 25, the average of f.), qandy is
23, then what is the average of pand y ?

(1) 24 2 19 (3) 29 4) 25

93. ¥ Teer=an St wivdl T A5 ?

7 1
B
1 6 4
(1) 45 (2) 48 (3) 46 (@) 47

Which number will replace the question mark ?

7 1 2
Foe
1 6 4

(1) 45 (2) 48 () 46 @) 47

94, viged < d@AiRdl SN Gy 1R, 919 ey fam=n snftn Sten 9@ s1R, vyl famersan fommh
4arg g e,

86:29::98: 7
(1) 30 2) 32 3) 34 4) 36

The relation between third and fourth number is same as it is in first two numbers. Select
correct option in place of question mark.

$6:29::98: 2
(1) 30 (2) 32 3) 24 (4) 36
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95. e Wi T TEEdid TR fafym v [ s R o fafay £ qraaa,
-, Ae-Tenrd, Twm-+1e, sTam-fas, fafoe Toser - 3fiew
21 Tt ST R e Fraen

e

%

(

e

(a) TSl eI AR NI Aldd U1 Arerd (SR sheiedl qreel uT UshEl et sted 18],

(b) I TEEt WeRl e o fgat s,

(c) &l AE SISV &I Teidl Siedrd 9l s Sl e SEie siedr.

(d) U HE TS AN A A I G ST TG 9V FHIE] ST Fed St o fed

a

AT
TarE 39
(1} (a) Foram wwe! el (2) () A T
3) () FEm e =8 (4) HH (b)d (d)

Accompanying image shows different areas that represent specific language speakers
residing in one colony. Arrow - Marathi, Circle - Gujarati, Triangle - Kannada
Rectangle - Hindji, Irregular - English. Select false conclusion/s based on this information.

| N

Conclusions :

{a) Some persons do speak four languages but no one speaks all the five languages
mentioned in the list.

(b} Some persons speak Kannada and Hindi only.

(c) Though some Marathi speaking persons do speak Gujarati but some of these speak
Hindi also.

(d) There are persons who speak Marathi and other two languages but some persons
speak Marathi and Hindi only.

Answer options :

(1)  None except (a) (2)  All other than (a)

(3) None other than () (4) Only (b) and (d)

FHolT SEERT 9 /SPACE FOR ROUGH WORK
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96. WO TENE ;: 1 faren Sen ane foea 3 weis fafe ey o, 9= ey Isdiesto
EF:15::KL:_7_
(1) 23 (2) 36 (3) 46 (4) 66

There is some relationship between two terms at the left of : : and same relationship holds
between two terms to the right. Find out the correct alternative, in place of question
mark.

EF:15::KL: _?7
(H 23 (2) 36 3) 46 4) 66

97, UfEew 9 Tgms S Ty 2R, e Hay a9 Shem 9gg e, 7 farea Seit wivet e
¥ ?

122:170::290: 72
(1) 364 (2) 362 3) 323 4) 324

The relation between third and fourth term is as it is in first two terms. What Number
should replace the question mark ?

122 :170::290:_2 _

1) 364 () 362 (3) 323 (4) 324

98. U&I Hidfas vMWT VIDEO 98t VWREL 81 Hehd 318 3701 CHAIR Wrdt RZSXI 21 Hahd 3R, T
BOARD 31 ¥ @9 Gisfds WNd &1 fogms ?

(1) YLZIW (2) 1ZLYW
(3) WIZLY @) (1), (2, (3) T SR T

In a certain code language, if VIDEO is coded as VWREL and CHAIR is coded as RZSXI
then how will BOARD be coded in that code language ?

(1) YLZIW 2) IZLYW

(3) WIZLY (4) None of (1), (2). (3)
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99, wole faurTa faur U -

(2)
(b)
(c)

81 € AR 12 1 6. 4 T WISAR, TedR S0 Woar a1 feawh o syesy @,
Tl oM =RV F4AT € AR, TEER, AR A0 Taadt 9. 10 9 §, 2 I =1 o,

At et SE A € W9 | g 12 ITd §ER, gYar onfen ear m feav anfor
3. 27 H. 4 71 9= YERAR, WHER anfor daar o feaeh wh Sues .

fo afeot sTorean Teaen o fadt asiaT Weha = 319am ?

(1)
2

(3).

(4)

Tedl -3, 12741 d Vaarf} g. 12 41
TR - §, 12790 @ Yaard g, 2 4L
TeaR - §, 2791 & el 3. 27

TedR - g 2790 9 ol g, 1290

Consider the following statements :

(@)

(b)

(<)

Kunda is available at home during 12 noon to 4 pm on Tuesday, Thursday and
Sunday.

Her younger sister Naina is available at home on Monday, Thursday, Friday and
Sunday during 10 am to 2 pm.

The eldest sister Jyoti is available at home during 9 am to 12 noon on Monday,
Wednesday and Thursday and 2 pm to 4 pm on Friday, Saturday and Sunday.

On which day and at what time, all the three sisters are available at home ?

(1)
(2)
(3)
(4)

Thursday - 12 noon and Sunday - 12 noon
Thursday - 12 noon and Sunday ~ 2 pm
Thursday - 2 pm and Sunday - 2 pm

Thursday - 2 pm and Sunday - 12 noon
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100, < TieaiFl Seea Tgwa Hgard! Hifgd S5
A, B,C, D, E S F ¥ 929 9 €M SirsWl 34T 7% 6S@l %@, g, 3w, oo, d& 9 93
it fafiw weore fadm uhdt 3. Twet T8 9ew S of Y fardy yea & AL C, S E =
T IR, e s wale s oS, B, S D = Afeaifee gom e, o g i wda s
F¥ AR T6T 3R, <o 351 it SiiewR qasd 9ao 38 o710 F 9 93 oasd el A9
THed faur fael.
faum :
(a) DT favm gea wet snfor d A 91 Jom TR
(b) E@ ffi=aut samn 359 9 R,
(c) €3 g Tas Sad! TR,

Wﬂ'hﬂ?.ﬂi‘:
1) (a) Gl wd () (a) TS THI TR
3) (@3 (=D 4 (@ b))

Study following information about the joint family comprised of three generaticns.

A, B, C, D, E and F are members with two married couples and each member prefers
distinct fruit amongst banana, chiku, pineapple, figs, guava and orange. None of the
male member prefers either figs or guava. C, who is daughter inlaw of E, enjoys pineapple
most. B, who is unmarried son of D, prefers chiku. F is a grandchild of A, adopted by 2nd
generation couple and F does not like orange. Person A prefers figs and has a spouse who
prefers banana. Select statements from following set which are not true with respect to
this information.

- Statements :
(a) D prefers orange and is not a son of A,
(b) E is definitely a male member of the family.
() C has adopted a girl.
Answer options :

(1) All but (a) (2) None but (a)
(3) Both (a) and (¢} (4) Both (a) and (b)
-00o0-
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P — (75 1 q%7 T3.... )

@) vEgfasaed fifen Foew fafire swile #=2 =m (7% o%) F9.  gmeficseafife st @
T FIRE Fo FH Foard § Hid HOA= ]AH F AT, 30 THAS IEG I TER SHIGRER
AR 9 Foe ' igined S TR Waey weoeE sttfE-ge ' adte Tdhan ek
FT WD 9 QN FHN TG Teh FureA HOAEr A/ T8 T T9R WHen TR e
A B,

(9) TR TEHEEE AT fafn FO 3@ HIeaHE IHCTTU € Wi W i AT
UET SO YETE AR, W RS HTETET STUAEl SHEE ATIeEr STuiTh e Wi 1
THAYFHTERS T e W w0 oTavaE o

gﬁ E‘ zm’

9. ®. 201,

AT Ue
A 91 T HOGTEE! Sl Wer: Tl e ?
(1) @H T SEadt () s frEram
@ T T d @) TEFS aa
W YT Wy I (3) Ton TedeT 1 ol AR WHe O TN S (3)! 9. gy
QARG 577 3. 201 FAS I-FA (3) " ¥ a4 TI0 FEifa Fed waias s
IR
ONON NO
I TEAH W Ty IIe YdE T gad) Sa-HNE 8l Rl Waaie Qaes

IIOTFHEIT = & YRR gaiyd e Uiav sHifen H&7 TEaEl.  greRiEr
TET THITAT YIS |ioa arqard, Af-ge =7 ynda 99 arae 4.
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